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This chapter is devoted to two related 1113577 as presented in the passage below (nNVON7 171), any INVN O7sprayed on a garment necessitates the
laundering of that garment; and any vessel in which a 18V has been cooked must be cleansed at some point —and, if 0 253, must be broken. The
first five nrawm are focused on the first issue — 743 D123 NI 4-8 are dedicated to the 2" - D25y mvawr 792vY 777140

28.11.1

92a (x 73wn) 2 93a (79117 W21 A9VW) AP0 PIYY PN D257 DIWTY)

‘N "9% NRVNDD VIYN NYPN ONYN YR DIPRI AXYNT 7757 NRE INRY 112 HRY 1INR YR 727 :9DRY NYH SR ‘N 92T 7
ANTH NP TYR YTP? AR P TR 55 TYIn SR 1IN Sonp B DIPP3 NIYINS ADR RYDND 1050 :RIN DIYTR YD
127 92 1R U PIY NYWA NYN) *922 DRY 12w 32 Hwan wux N *991 YR DIPH DIIN WYY NP WK TN bv

23-p:1 N7 19790 YR '7;2313 XY Y1pa 19;‘; TN 'JjN YR ANTH R1P TYR NRVN '7;1 RN nw'[? af) wnn 'J;N’ D’J]D:_L

I ’» mwn: if nRYN D7 is spilt on a garment, it must be washed
a  Even though: the text seems to be addressing eaten n121p (i.e. N1IX'N MRYN), per YaR» WVITP DIPN3, it applies also to
NP’ MRVN, per NIRVNN NN
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Challenge: if we read nronn n1n, why not include y1yn nxron?
1 Answer: Rt is exclusive — per 91 — vnYN VR limits law to ponwl
Challenge: why not include all m»ax1 and exclude nym»na?
1 Answer: nRoNN NN is inclusive
Question: why include nvn»a and exclude myn nron?
1  Answerl: nn9 is more similar to 111N NRON: YR ,TIN ,YARR 197,99 1198 ,nnna
(a) Counter: myn nroN is more similar — i1 and it is eaten
(b) Nonetheless: there are more points in common with nm»a nron than with 9n nxron
2 Answer2 (901 37): MmYaRN — limits to only one kind of %381 (= not 9yn nron)
(a) Note: nxt is there to ensure that we don’t read n1938n as “normal rhetoric” and infer a VM
3 Answer3 (727): " TWR — only referring to Nk
Challenge: Xn»12 which agrees that na>ow1 np»n only applies to mYaRry, but N MWK focuses specifically on nynoa
1 Meaning: the base of our na%n is NPR719 — NPNXN MRLN are an extension
2 Ifso: mwn should read —not only nvnna, but also nynyn
3 Answer: we have such a version of the mwn
4 Then: 91n nron should also be included
(a) Answer: nrt limits
(i) If so: then nn¥'n nron should also be exluded
(ii) Answer: nRonNn NN NRt includes it
(iii) Reason for designation: WR ;TIN ,YAXR ,JIp ;93 ,1aX ,nnna
1. Challenge: ;i nxron has nrt (unlike nNn¥'nn nkon — which has "nma”)
2. Answer: the long list of commonalities with n¥'n nron trumps that consideration

II  par’v’s questions
a  Premise: 07 of a n¥'n nron (at least) brought in to Y'n invalidates 127p

i

ii

Question: if e nRon 07 is brought in while in its neck (no P71 used) — does it invalidate?
1 Lemmal: is the neck akin to the nw 95 > %oa
2 Lemma2: it is like the neck of an animal and it is only 04 if in a 93, not in its flesh
Proposed proof: if the 9yn nron was having death-spasms, went in to 93>0 and came back out — w3
1 Implication: if he took it in — invalid
2 Challenge: re: 1"p1p, ruling that if it went to 177 and returned before dying, valid
(a) And: there, there is no na%n of being taken to m17 as being R 104
(b) Rather: both teach that if it went out (even on its own) n71y% Yin — %09 (no solution to his question)

b Question: if 99n 07 spilled on ground and he collected it in a N1 93— valid or not?

i
ii
iii

Lemmal: nn didn’t require a *93, but if he collected it in one — still valid

Lemmal: putting it in a mw *%3 invalidates > %109

Answer (X¥37): our ruling, which excludes 91n nxon o7 from 01273

1 But: if nw »93 invalidates, it was 9109 07 when it got in airspace of (T31) *»3>doesn’t require V12’3 in any case
2 Block (»717 7772 81177 77):could have put *93 right up to its neck (no »»3 98) = no solution to this question
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¢ Question (asked by »5of pan 77): if the o7 fell from one garment to another — does the 2n require v1225?
i Lemmal: once it fell off the first garment (%109) — it is declassified as V12’3 pyvYNN D7
ii ~ Lemma2: no distinction
iii Answer: (“good question”) — it requires ©12’ in either case
1  Reason: if after being collected from the garment it is still nxtn% w3, still valid
(a) But if: it is no longer 7w, I (2R *7) accept »™’s position — once it had any 710 nyw — requires v127)
d  Question (n”27asked of 7011 77): if 07 spilled on a XNV garment, does it require vV1273?
i Observation (»717 /7772 82177 7): from his question, he must hold contra y™ (re: 710 nyw nY% nnon)
1  And: his question is whether that even applies if the 7 becomes 04 at point of contact with 731 or only if it
was invalidated beforehand
ii  Answer (8701 "): it is a dispute 1329/()10W 12) R™, per N17's explanation as clarified by »ax:
1 am772 X7 - nron m that became ®nv can nonentheless be used to be 7nvn
(a) Proof: we sprinkle on a N (to remove NN NRMY)
(b) 737's explanation: YW 12 YR "1 was following his master (™), that passing a ’>3 over a ®nv place is
tantamount to having it rest there
(i) Per:n: na —if he was outside of a 1n, with a 7w inside, and he put his hand into a window, tak-
ing a flask and passing it over the mouth of the 1n — »"1 renders the flask Xnv, Dnan are 1nvN
1. Reason: ™ considers it to have come to rest (atop the 71n) while o'non dissent
(c) 7aN’s challenge: y™ agrees that nxtn atop a RnY N3 or (2tn) 2WIN/23wWN is valid; 121 NN 10 NPT or NYIIN 128
are Rnon from above (by passing over) as if touching
(i) Rather (»2n): all agree that these are not considered nnn>
1. y”%. considers N1 that they may come to rest (= &nv — but 13127n)
2. o’por. no such concern
a. And:y™ agrees regarding nrrn that it is valid, since it’s already left his hand
b.  And: n29/8" disagree about applying prior nkmv (that happened to nkvn ') from current
i.  &”r we do apply — since we can sprinkle on a 113 (and nxvn ’n become &NV), we can
also sprinkle wnviw nron M
ii. 37 don’t apply = cannot use 1RPVIY NROVN M
iii. (- b7 that became &nv at point of contact either is considered on a par with o7 which
became &nv earlier and is not liable for ©11°3 [R™] or it is distinct and liable [}327])
(d) w27 all agree that we do not apply current nkmv to the earlier
(i) Their dispute: is whether nRtn requires a 1w and we can combine MRt to make up MYw (8™)
1. Or: nrrn does not require a MW (1321) = the first drop on the N1 is 9nvn before any became xnv
I 2 mwn: those mrvn whose 07 does not necessitate V1273
a 7509 nxvrr whether or not it was ever fit for nam (e.g. R¥v ,8nv 1) or not (e.g. P91V 121pY ,NMPNY PIN ,MNTY PIN VNVI)
i &Nr772: DTN - only NIW BT, not N BT
1 prrifithad a w0 nyw and then became invalidated - requires washing; if not — not requirement of ©¥2%
2 v”r whether or not it had w120 nyw — no requirement of ©1273
(a) source (for w7): nMR and nRt — one excludes W10 NYW nY NN, the other for outright Y109
(b) »”rreads nmR as excluding nmn (from requirement of washing out »53)
(c) w”r follows his own reasoning — he doesn’t apply our rule to n’>p wTp, certainly not to nmn (and no
text needed to support it)
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